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2.3. Advanced Algebra DATE: __ 9 lﬁ’ EEJ
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@hm is so special about the slopes of parallel lines? ) )
The slopes of parallel lines are '}Lf Same ( tﬁwl)
Exemple 1
«T
Graph the line through (-1, 3) that is parallel to the line with the equation x + 4y = -4.
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What is so special about the slopes of perpendicular lines?
'
The slopes of perpendicular lines are ﬂff‘ﬂﬂ"ﬂ mﬁfm‘:ﬁlfh -”iZ [’fddl"d‘ 0{ fl'O‘Pff
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Example 2
T
Graph the line through (-3, 1) that is perpendicular to the line with the equation 2x - By = 10.
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